Part-1/9m-1
Compulsory / aAfard

What is equity in teaching-learning
process ?
(A) To treat every student equally.

(B) To provide them support as per their

individual need.

(C) To provide them equal opportunity
to grow.

(D) To behave with the students equally
without any discrimination of caste,
gender etc.

ST - 37TeTH <hl Tfshan | =1 99T & 2

(A) T B & Y THM TR AT |

(B) STeh! SAfeRITTd HATERIhell b IFHAR
378 TERIA 9EH LT |

(C) 3= forehTd & THM 319 YgH T |

(D) Sfd, e 3mfe < wewra = fomr s
o H1Y FHH STIER HLAT |

The primary task of a teacher is

(A) To stimulate, motivate and guide :

students’ learning.
gg To teach good habits in students.
textbook units.
(D) To satisfy the expectations of the
principal, parents and society.

T TR187h T T

(A) BT o AR 1 Fiearfad, I 3T
T |

(B) BT ol 7=t 3T g |

(C) Fuifd  digashs 3 UTgAgEH

%1 TGHT |
(D) JaHEE, AE-Udr 3R ga 6
YT 1 I BT | (A)

What is the level of the following questions ?

like — ‘Prepare a diagram on ... ,
‘Explam the components / parts of ........ ) i

‘Conclude the characteristics of .......
(A) Understanding level
B) Analysis level
C) Creativity level
D) Application level
Smg FIERFATE ?

10 (Hindi)

To teach the prescribed syllabus and |

4.

6

was the educationist who gifted
Kindergarten Education System to the

World
Gijubhai (B) Dewey
C Herbert (D) Froebel
Terewmre favet yomeft w51 SuER feam an|
(A) Tﬂ—sms‘ (B) et
(C) &I (D) Whisid
MOOCs must contain the four quadrants
1E)er SWAYAM guidelines.
ich of the following is correct list and

sequence of these quadrants ?

(A) e-tutorial (video), e-text (reading
material), = self-assessment tests,
online discussion forum

(B) e-text (reading material), e-tutorial
(video), online discussion forum,
self-assessment tests

(C) e-text (reading material), e-tutorial
(video), e-tutorial (audlo) self-
assessment tests

(D) e-tutorial (video), e-text (reading
material), online discussion forum,
external assessment and certlﬁcatlon

SWAYAM % foan-faden & 31gan
MOOC T 4R =gafyr g4 =fge |
ﬁwl%i%aﬁﬁaﬁqwsﬁa@aﬁﬁﬁﬂﬁ
T 3T TR

(A)émﬁw@%ﬁ) 3-SR (TS

qrft), T -edTehd qhET, HATers
== 79 (BRA)

(B) -3 (Yad4 dmft), 3-TFIEd
(fifen), maﬁw(qﬁm),
- AT qEu

(C) 3-ea2 (Y3 dmfl), 3-TgeIfera
(aﬂ%ﬁ)qéza@fwa(w%ﬁ) -

(D)ée;e@f(amaﬂ%aﬁ) -3 (T
gmfl), e == g9 (BRE),
STEH JeAreh 3T JH0=

Plagiarism is allowed by UGC
according to the latest rules and

regulations by UGC. ]
ELGﬁHQI BRI Fefiaw i s fafemi &
EUROEIRCIN
(t@@?ﬁ‘?‘q) <1 3rAfd 21
(A) 05 % (B) 10%
(©) 15% (D) 20%
O



10.

Which of the following is not the
example of qualitative research ?

(A) Ethnography (B) Survey

(C) Case Study (D) Focus Group
fraferfiea & @ &9 @1 TS Y H
IETET TR & 2

(A) Fofa-aviF  (B) Tee

(C) &tk AZFH (D) Hebfrad TG

Which of the following inferential
statistics data analysis technique will
you use for the data that is less than 15
and selected using Convenient Sampling
Technique ?

(A) A Variance Test

(B) A Parametric Test

(C) A Non-Parametric Test

(D) None of these

GiIaTSieh TR Tehileh BT ST
Hleh I T 3R 15 & Y ST o 1T 379
= o @ *F @t g anfessht s
TergeTeT qehftes 1 IUFTT BT 2

(A) T ferawor qhteqor

(B) Ush Yrafetsh qieqor

(C) T TITH(Teh Thequr

(D) 3T § 1S T

Which of the following is NOT a useful
software to analyse the data obtained
through research ?

(A) Microsoft Excel (B) SPSS

(C) SSPS (D) PYTHON

IAHYH b WEH F U HAfhSl I
v 1 & fou fafaRga g @ s @
TSR ST T8l & 2

(A) WISHIETTR T (B) THICHTH

(C) wougdied (D) YA

Which of the following types does NOT
belong to “Types of Interviews” in
research ?

(A) Structured Interview

(B) Unstructured Interview

(C) Personal Interview

(D) Impersonal Interview

freferfiga & @ ®F @1 YR IgHYH |
“HTRATesh R o T | T erd & & ?

(A) GIFEd BRI

(B) 3ITERIT ATRAThR

(C) afeaeh HTETTehR

(D) JraferTeh HTETTh R

LR A g
| TR SfieH o Wt ol HH TE a1 | SEa:
| Ao 379 ST S WEHISS! & BHRI TEEhid J 3
| I "GO Bl OIS e & 3N EHR Tyl e <
| ol TS W HE T ¢ | 36 WY & WM WA
| EXAT o U IE B T | FA9H e Jomett
| Jeed S I UH HHM o FoTC FET-Rehiien wi
. 3R U@ SHHT B | T, Y IR T 3 fedl
| BUTTR & Fifeh I 3T i TR I s 6
| SO gR ¥ S $9 G 1 S A o -

Read the following passage and answer the

. Questions given below : (Q. 11-15)

The scientific and critical mind of India

must be reawakened from its slumber. The

ancient culture based on the vision of the Vedic
and Upanishadic seers did not minimise the
importance of our earthly life. In fact, opulence,
inner and outer, was the driving force of this
culture. But for about a Millenntum and a half
now our culture has let go of this fine balance and
got trapped into the ascetic denial of our terrestrial
life. With this began the decline of the great
Indian civilization. The present education system
aims at making the child an information-
recording machine and a robot for making
money. Mathematics, computers and machines
are everywhere in these days because they are the
gateways to lucrative jobs and subjects which do
not enjoy this repetition - history, geography,
languages like mother tongue and Sanskrit - are
out. The second grave defect of our education
system 1is that it 1s gravely denationalising. No
German education would be regarded complete
without a good acquaintance with Goethe, but
Indian education has no such concern about the

i sources of our culture. It is ironical that Indian
. education is uncritically trying to emulate the
i West just when the West itself 1s going through a

crisis of faith with regard to its institutions of
education and culture. It is desperately wondering
what has gone wrong as it faces mounting
problems 0% drug addiction, teenage pregnancy
among high school students, an existing
hopelessness among people of all ages as well as
a social organisation that sets a premium on greed
rather than on compassion and love.

e i o A g o s

& I GIfTE : (T, 11-15)
T o ST 3T AT AT
35eh! i & foh & S B | Afes 3R 3ufg
T IMYTRG T TE&hid 4 §AR

<l Ik wiferd o |
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R SFERIHT R &l 8 | T o 37 U=
form 18 oft Srfe frer o 7l =t St &, AfeR
R 1T o1 AT Teehia < @it 6 R H Udt

1S e 8 & | 7 forewer & p v fren v
ferell STTeATerT o UfTerm <1 TR0 i i I |

HE 2, T afvem W e s Tl % T
LI o Hey 3 forva i & Tehe T ST 8 | T8
TR & T @1 & Top o e 21w & i aw

TS o S Ueh Hio[gT FRrsm <hl st Tuenati s

HTHAT S T8 8 ST 0T 3R 3 o ST AT |

Jrfenge Tenfud T g |

11. The author of this paragraph wants to
Indian culture.

(A) revive (B) criticize

(C) praise (D) None of these

39 ITTSE h @ ANATT TEBId I/l |

AT ATEd 7 |
(A) GASfiterd (B) 3=
(C) @ (D) $TH | IS &I
(A)

12. The word ‘opulence’ in this paragraph

means

(A) peace (B) wealth

(C) values (D) None of these

T =G H e g 1 31 7
(A) wiifer (B) &
(D) T8 § 15 el

13.  Which of the following is NOT an issue

faced by the western society as per the ;

above text ?

(A) Pre-marital sex among adolescents
(B) Various addictions

(C) Depression

(D) Lack of faith in God

frffad 3 @ F4 1 I T %
AR ufvadt TS g AmAT fohen S
T HEl & 8 2

(A) et & st foramg 4o =i Geiy

(B) Hq

(C) RN

(D) $ver H forgame i wrft
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14.

15.

16.

“No German education would be

regarded complete without a good

acc(ljuamtance with Goethe.” What do you

understand by this line of the text ?

(A) The author praises German
education system.

(B) The author likes the German artist
Goethe.

(C) The author emphasises teaching of
arts and culture in education.

(D) None of these

‘ﬂﬁ@g IS qﬁwgﬁmﬁé%ﬁaﬁq

e qof &1 7 STt B 17 31=ee i 3|

Ul AU RN EAAAR?

(A) oTEeh o e Somret shi ST i 2 |

(B) G SiHH <heflehI TIIU i 0 hid ¢ |

(C) s T1em § sl 3R T=hid &
e A g |

(D) T & IS Tl

According to the author, our education

system is denationalising because

(A) It does not teach about the great
seers and sages of India.

(B) It does not teach about the great
artists of India.

(C) It does not teach about the ancient

language and literature of India.
D) All of these

% IgEr, wAh fuenm e
FFUGRIHTT <L TEl B Hifeh N
(A) T8 WA  HEM RI¥a1 3 Hdl & R
7 7l forgrei ? |
(B) I8 WA % HEM Hellhii o a1 T Tl
ot 2 |

(C) ¥18 WRA = T W91 3R Hifeed
TR T2 e @ |

(D) @& &+ft

A conference or a meeting or even a

mela or procession is a ‘communication

event’, newspapers, radio, cinema and

television are ‘communication media’,

phones, computers, satellites and the
internet are ‘communication ’

(A) spaces (B) media '
(C) technologies (D) process
Th G I1 Th o3 A1 A& deh {h Th

AT A1 @ T TR FeAT 7, THER-
w, e, fgam s efifesm w=r
T’ E, BH, FI, IWE I FEAE

TR 21
(B) Hifean

(A) AT
(C) vrenfuferai (D) wfsran



17.

18.

19.

20.

21.

The Interpretation  process in
Communication takes place in )

(A) sender g ) message
(C) receiver D) channel

IR | AT Uk (FHEE 1 ) |

FEA R |
(A) ﬁw (sender)
(B) H<I (message)
© Tedehdl (receiver)
(D) EER] (channel)
What is of greater concern is the effect
of ¢ > which could result from
repeated exposure to scenes of violence
in programmes, news and cartoons.
EA StereotT{pes
B) Generalisation
C) Desensitization
D) None of these

S 3tferen feiar & foww 8, 98 ¢ &l
TS B, ST ShEshHT, GHET 3T ki
féan % gwl # dR-an fe@m &

IRUTTREEY 2 Jhdl 2 |

(A) Sfgaried B) @M=t
(C) FEAHT (D) TTH & HIE T
Environmental Stress, Competing

Stimulus, Subjective Stress are examples of
(A) Noise

(B) Physical barrier

(C) Frame of reference

(D) Emotional barrier

e, gfceeff 3Euw, safedwes
qTa fohdeh 3TE & 2
(A) IR (B) s sen
(C) Hey T (D) WTa-TcHe STeT

Gestures, Grunts
examples of

(A) Evolution
(B) Non-Verbal Communication
(C) Noise

(D) Verbal communication

and Grimaces are

, ECEHT 3 g s fohereh Seretn 2
(A) Tam (B) TR-HiRge TR
(C) TR (D) Hifgss gaR

Find the missing number in the given

series following the same pattern :

& TS e § gAM e 1 SR
A FEIT A I :

18, 24, 84, 294, 798, (?7)

(A) 1682 (B) 1788 (C) 1867 (D) 1932

22,

23.

| 24.

Shyam bought an old Honda Bike and
spent X 1,500 on its repairs. Then Shyam
sold it to Rohan at a profit of 20%.
Rohan sold it to Rudra at a loss of 10%.
Rudra finally sold it for I 12,100 at a
profit of 10%. How much did Shyam
pay (in %) for the old Honda Bike ?

I H T U BieT S1geh GLie] 3T geh!
A W T 1,500 @9 fpu | i w358
UET Bl 20% o 19 T & fem | Usd 3
3 3g Bl 10% hl BT W = fem | vg 3
HATRITHR 38 T 12,100 T 10% o 19 W
99 feam| wm 9 gt giet 915 o o1

foReT (T ) YA fema 2
(A) T 8,600 (B) T 8,685
(C) % 10,800 (D) % 10,185

There are three athletes P, Q and R at the
same point. P starts running from a point at
a speed of 40 m/min. After 5 minutes, Q
starts running after P with a speed of 50
m/min. Simultaneously, R also starts
running after P at 60 m/min. What distance
has R covered (in m) when he catches P ?

H Teted P, Q IR R U &l faig W e | P
w foag @ 40 wfer/fme i 7ifd & e
IJE B g | 5 M s1g, Q, P & Ui
50 e /fire 1 71fd & et & a8 |
gy &, R off P & 11® 60 Hiex/fime 6
Tl & EreT I& LT & | P ol Uehsd TR

3 fepeft gt (e ®) T 2 2
(A) 700/3 (B) 1000/3
(C) 600 (D) 1300/3

In an election between two candidates,
the winner got 82% of total vote cast and
won the election by a majority of 3840
votes. What is the total number of votes
cast if no vote is declared invalid ?

Gl IFIGAR o o9 T AT H, foordn i
%ol STol T HAl T 82% I §IT 3R
3G 3840 Tl o SgHA | TATE Sid ol |
I IS Ta A IS T&1 fohan S 2
Al STt TTT Al Y Hol HEAT AT 2

(A) 11000 (B) 4000

(C) 9000 (D) 6000

10 (Hindi)



25.

26.

27.
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Read the following information carefully
to answer the question given below :

(1) X *Y means Y is mother of X.

(i1)) X + Y means X is brother of Y.

(i11)) X —Y means X is sister of Y.

(iv) X/ Y means Y is father of X. i
Which of the following definitely means
that ‘P is grandson of Q’ ?

Jo fou M oy H IR A F
freferfiea Sl 1 STHYES Ue
OX*YHAGRY, XFHIATR |
()X +YHRIIFEX, YR UER |
() X- YR IFZX, YHI &R |
(V) X/YHATRY, X HTTUar? |
Frerferfaa o @ forerept fifvaa w0 & aef 2
f6 P, QH1IUETR ?

(A)P*H/Q

(B)A-P*H/Q
(C)A*P*H/Q

(D) None of these/g:lﬁ @?ﬁé:ﬁﬁ

Consider the following argument :

Major Premise : No squares are rectangles.

Minor Premise : All rectangles are circles.

Conclusion : Some circles are not squares.

What is the Mood of the above proposition ?

frfafgd oo = famm =t

%g@a INUR-TH : HI5 oft o 3mrd &
|

Y INER-AT : THft A I 2 |

e : gp gt T 7 | =

IR TR T TG FAT 2 2

(A) EAO (B) AEO

(C) ATE (D) EAT

Choose the analogy that best matches the
example provided.
SOOT : GRIMY
(A) RAIN : SODDEN
(B) PALL : GAUDY

(C) FROST : TRANSPARENT
(D) DUST : RADIANT
98 WgYd Y4 S UgH fohT T I W
e 3191 Al @1l |
i@ : T
(A) 991 : -/  (B) 3T : WShIeAT
(C) UIet: IR (D) 4e: SIfcaH ™

28.

29.

In following question statements are §iven
and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically

follows from the given statements,
disregarding commonly known facts.
Statements Some questions are

answers. Some answers are writers.
All the writers are poets.

Conclusions :

. Some writers are answers.

II. Some poets are questions.

III. All the questions are poets.

IV. Some poets are answers.

A) Only I'and II follows.

B) Only I and IV follows.

g Only I and 1V follows.

Only II and_III follows.
HAT h a1g ey | ST
wtﬁm - ”%3 9 Hﬁ;?ﬁq

Y9 § %A U T § I A

T H <l TT AT B .

g @ =1 weffa Bid & | [ ] Ug 371

o frartfia =t fop_feu o frsest & & &4

|1 A T a2 shi 3ueT whid gy, fau

Wmaﬁwamxgﬁmﬂm%%l

hYA | TGS 2 |
mmﬁf%@w

freerd 5

1. TG IR |

L. gmﬁrm%

. Ift s hfa g |

Iv. a»-i%ra%ﬁtél 3

A I 3 11 3= |

EB))éromaﬁuvaqgawm%ﬂ

(C) shaet I11 37 IV T HLd 8 |
D éﬁane»ﬁxnmﬁww |
gW)hoever thrusts a ife into% another

person should be arrested. Surgeons thrust
a knife into another person when operating.
Therefore, surgeons should be arrested.’
Which fallacy is committed in the given
argument ? )

A) Fallacy of accident

B) Hasty generalization )

C Apgea to unqualified authority

D) Red Herring

TR SfEd T =R AR a1l PRI

fohaT ST =1feT | JITEH ohid |9 Hoid
= o =1 =i9d & | 38T, "
Frwan fopa ST =Tfee |

fou e qeh o A it wifa g 2

T 9

(B) SAferantid qmT=fishtor

(C) 3T Tferehrt st 3Tdfiel

(D) E&f




30.

Which of the following statements are true

with reference to Vyapti (concomitance) |

according to the Nyaya system ?

(a) It expresses the relation between

two individual objects only.

(b) It expresses the relation between the
classes of individuals.

(c) It can be said to exist between two things
if they are related as cause and effect.

(d) It can be said to exist between two things
if they are related as species and genus.

Choose the correct answer from the
options given below :

(A) (a), (¢) and (d) only
(B) (c)and (d) only
(C) (b), (c) and (d) only

(D) (b) and %c) only N

S| e (TgAT

a’aﬁﬁﬁmﬁmﬁgﬁﬁqﬁ%éqw)% ?

(a) I8 hadl ol SAfdAl o S Y =T
HATE |

(b) T& K b Tl b i Helel &b T & |

3 Q1 el & o ST ThelT B
© a&awaﬁm?i@w T & |

d HEEEEESEE RN
SN Rl Sk R

T HerE g |
e few o freredi 1 & U8 Ia s =R hifT
(A) %5 (a), () HR() (B) i () HR(d)
(C) % (b), ()3 (d) (D) e (b) 3N (c)

g. No. 31 to 35 : The table given below provides
ata about investment done by different persons.
Read the table carefully and answer the questions.
(Note : Calculate simple interest unless specified
and all questions are independent of others%.

9. 31 9 35 ;: Fi9 & 7 arferer Tl safwet g

foru U Frew & SR T ST JEH T B | dTfotehl i |

&I | U¢ 37 I 1 IWE |
(T : TR0 TS 1 TTUAT L 6 b I8 T & |
SRt S gt & e 1)
Person Rateof | Time |Principal| Amount
=t interest | (Years) | werem LU
FqER | 1 ® ®
(=)
Amar / 3T 3% 1,800
Brijesh /fsom1 | 3% 3,000
Chirag / fem 4 2,900
Divya / fgem 2 4,500
Ekta / Tehdl 4% 2,000
Fenil / ®f& 2 6,000

31.

32.

33.

34.

If the interest rate received by Amar and
Chirag is in the ratio 2 : 3, then find in
approximately how many years the
money invested by Chirag will be
doubled with same rate of interest.
Ife 3R SR R g oe &9 @ 2 : 3
% I § g, ar ferm g frew < e
TR 9H &9 & 8 A9 fehad aui |
& ST 2
(A) 33.5 (B)20 (C)22.22 (D) 29.40
If the ditference between the interest
received by Ekta and Brijesh is I 420 and
Ekta invested her money for double the time
period for which Brijesh invested his money,
then find the amount received by Ekta.

If¢ whar 3R TSRt gRT ST =TS % s
IR T 420 g 3TN Toha 7 fororer g o Hr
TS ST | QT STare o T 31 e fert
fora B, 1 Weha bl ST U1 3T <hIfSTT |

(A) 2,298 (B) 2,785

(C) 3,050 (D) ¥2,960

If the amount received by Chirag is
twice the money invested by him, then
find the amount he will receive after 2
years if he invests same amount of
money in compound interest for 2 years
comr]%ounded half yearly.

Rl FI ST T 3Tk gry FEw
HERUAE] 7, d1 ma hife fp 2 a9
e 39 i st gl afe a7 3
iyt 1 2 oY % fou e it
Tohd [, TS H e LT 2 |

(A) T2,233.56 (B) ¥2,549.45

(C) ¥2,322.62 (D) %2,122.46

If the interest received by Fenil is 20% of
the sum invested by him, then find how
much more money as interest he would
have earned if he had invested the money
in compound interest for the same years.

TR TS SIS 39k 2N

0

35 FHM TN o (¢ ThalG

Tere BT A1 39 foha 31fYeh st e |
(A) X80 (B)X60 (C)X65 (D)X 75

If the interest received by Fenil is I 240
more than interest received by Divya and the
rate of interest received by Fenil is 2% more
than the rate of interest received by Amar,
then find the interest calculated by Divya.

Ife %A g1 e =Tt e g vH = e o
% 240 3k & 3R WA g0 I S hl
T I g 9T ST <hl & H 2% AT 3,
qt feea gry o foma TR =Tt S <hifTT |
(A) 1% B)2% (C)3% (D)4%

10 (Hindi)



36.

37.

38.

39.

Which one of the following statement(s)
1s/are true about QR code ?

I. It stands for Quick Read.

II. It is a two-dimensional bar code.

IIL. It cannot be used for cryptocurrency  ;

wallet addresses.
(A) Both Iand II §B) Both II and III

C) Only II D) Only III
%\W\%\'@ﬂﬁ@ﬁ@/ﬁ%% QR FiE &

TRATE /22

L. saaﬂaﬁqéaﬁﬁm%%nckRead)%l

II. I8 gi-fofa s 2 |

111, 39ehT 9N FoReiehiE afele Tead
fore & fopn s wehaT 2 | .

(A) I3RS (B) 11 3R I EHT

(C) aet 11 (D) ke 111

Which video compression standard is
commonly used in videq conferencing ?
SfifeAT IR § AR i

R form
HIGT TUES h1 ITANT fehaT SITaT 2 2
(A) H.264 (B) MPEG-2
(C) MPEG-4 (D) VP9

____is adigital initiative of government
of India in higher education that aims to :

promote hands-on learning of Robotics
and embedded systems in colleges.
(A) E-Yantra (B) Virtual Labs
(C) E-PG Pathshala(D) E-Shodh

I fRTefT H I FhT i Th
Uedt B TSEeh BT Hiows & aifes 31
TS T i e 1 SeET e g |
(A) 3-33 (B) I3 isH
(C) 3-4ish yresmeT (D) 3-3ny
What is the National Institutional
Ranking Framework (NIRF) ?
(A) A government body responsible for

accreditation of higher education
nstitutions.

(B) A methodology for ranking higher

education institutions in India.

(C©) A platform/framework
students give feedback about
colleges and universities.

(D) All of these

(NIRF) T8 2

(A)ﬁ%ﬁé@ﬁ@ﬁﬂﬁﬁ%%ﬁ%

orier v g fem |

(B) Wt 5 3, P e 1 b 3 |

foTQ weh iy |

(C) U TE /T &l B hictsll 3ﬁI
o :

T aR A Ifafsran <d 8 |
(D) ¥ Tt

10 (Hindi)
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40.

41.

42.

|43,

What does it require to set-up an Intranet
for an organization ?
A) Computing devices
B) Communication links and
Interconnecting devices

(C) Protocols ~  for _enabling
communication among devices
D) All of these
%?Fﬁ TS o folU 3gHe TA1a &
fere s 2 2
(A) :
(B) H=R fo7sh 3R
(C) o off<l TR ! W& L 5
(D) I aft
Under which protocol the Clean Development
Mechanism (pCDM) is implemented ?
A ﬁyoto protocol
B ontero protocol
C) Paris agreement
D) Cartagena ggrotocol )
JIeiehlcl o dgd s o™
GISOSIUNERIE I

(A) F (B) Hiel SeEhiA

(C) U@ Tusiidl (D) IS TIdiehicd

Certified emission reduction credit represents

(A) Reduction in one metric tonne of sulphur
dioxide emitted to the atmosphere.

(B) Reduction in one metric tonne of
nitrogen oxide emitted to the
atmosphere.

(C) Reduction in one metric tonne of carbon

dioxide emitted to the atmosphere.
(D) None of these

IS haldl shige  (certified

emission reduction credit)

(A) TIHSA H IEAA Hohl SEIAFHEE
% Th Ul < § T | §
(B) IIHSH W I AT5gIoH STaTEe
% Teh Hfgeh o H | }
(C) ITIHSA H IHSIA HIEH SHIHATTFTES
o Ush Higsh o H 1 |

(D) 378 | IS T

Arrange the crops in an ascending order

for their water footprint.

A) Wheat < Rice < Coffee

B) Rice < Wheat < Coffee

C) Coffee <Rice < Wheat

D) Rice < Coffee < Wheat
& 3T

ST ghgd (water
footprint) o ToTT STRIE! 3 H SHATEIA . |
(A) g < TS < HIh
(B) e < 7T < it
(C) ih! < =g <5
(D) T < il <5



44.

45.

46.

47.

How many kilograms of CO, is

equivalent to 1 kg of CH, in terms of |

global warming potential ?

et Ll N —

CO,, 1 freiiom CH, & SRR 2 2
(A)" 10

B) 25
€c3 S0 :
(D) None of these/STH H IS T&

The United Nations Conference on

Environment and Development

UNCED), also known as the °‘Earth

ummit’, brought together

representatives from countries

to discuss about the impact of human
activities on the environment.

A) 179, socio-economic

B) 177, socio-demographic

C) 175, socio-cultural

D) 173, bio conservation

foprE W Tg® TP THTH
(JuEEe), 8 ‘gl Rret aeE %
w7 § oft I ST 2, D
yfaffert = wfaer W aHa

et 3 S % R A

T wh |1 A |

(A) 179, GraThTeh-3Tfh
(B) 177, AT —ST:
(C) 175, QrTfTeh-
(D) 173, 9 T&q0T
In most of the States of India, the Vice-
Chancellor of a State Government
University is appointed by .

A% Chief Minister of the State

B) Home Minister of the State
C) Hon. Governor of the State
D) Education Minister of the State

c

(Dﬁ T o foren Wt
Which is/are the online

Flatformgs])l in India ?

. DIKSHA 1II. SWAYAM
III. PARAKH IV. SWAYAMPRABHA
gAg Only I, II (Bg Only I, II, III

C) Only Ii (D) Only L I, IV_
A § STeTE 18701 7l b |1/8 8 /8 2
I dan . @&

. 7@ IV. TR

(A) ae I, 11 (B) shad I, 11, 111
(C) aet 11 (D) &I L, 11, IV

learning

48.

49.

50.

Which of the following institutions/
organisations play important role in

designing the curriculum for all the
levels of school education and higher
education in all the disciplines of
knowledge ?

[. NCERT II. NCTE

1. UGC IV. AICTE

(A) Only L II (B) Only L, I, I1I
(C) LIL, 100, IV (D) Only L, I, IV
M o a fawai # wRefl fren ok 3=
et o |t & o fTQ qTa@shn AR &
T fafafgd & 9 ®F @ GE/9ed
Tgaqut ferent fuma § 2

[ TERARE 1L TR

IV. TITEHER
(B) had I, 11, 111
(©) LIL, 100, IV (D) sad I, 11, IV
Which of the followin
University was situate
present time ?

(A) Nalanda (B) Taxila
(C) Vallabhi (D) Vikramshila

fefafga 4 @ w9 @ e ardE
Torvafoamem adam @99 & wifesaE |

ancient Indian
in Pakistan of

f@rcr?m
(A) ATl (B) q&rfret
(C) oot (D) ferspufstemn

NEP 2020 has emphasized on

I.  starting all the engineering and medical
courses in the vernacular languages.

II. reviving ancient knowledge systems.

III. converting all the colleges into
multi-disciplinary universities.

IV. designing a new curriculum for Early
Childhood Care and Education.

(A) LILILIV  (B) Onlyl II, IIT

(C) OnlyL,III (D) OnlyIL, IIL, IV

TAgdt 2020 A R AR e ¢

L &t sSiifEi s afgwe aigasea
T T3 | I T |

II. ST=E S Jomferlt sl T |

L &ft sl wg-fawres
Teroaforaneri @ af@faa e |

V. YRfeh STeaTaee c@vTe 3T fra
o ToTT Teh T UTSAhA IR ST |

(A) LILILIV  (B) saat I, I, 111

(C) haet I, 111 (D) e 11, 111, IV
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S1.

52.

53.

54.

55S.

56.

57.

58.

59.

Part—I1 / 9-11

Hindi / &=
frafafaa 5 9 = o1 w51 stfirerso

e

(A) UiEdRflerdr  (B) HRIfUTshar

(C) IR (D) g
“HTYT ATgfoseh ol Wdiehi shi SHaedT &’
g fpaam o & 7

(A) . drerTy foar

(B) SIS FerefT

(C) efitgamer ami

(D) SelsTY T

3T refuftada S fesm i it 2 2

(A) JAdGDE (B) Jrdferar

(C) e (D) @t
Sfm T B AR ?

(A) @ (B) &

© o (D) T
B AT HH U E ?

(A) 1,9 (B) ®,d

©) 9,4 (D) g &l

. Wierry foam & STTER T % YR
T AT % fopad W 7

(A) IR (B) U=

(C) ¥ (D) 313

TE 3T BT IE TR <l ohid BT JehR 8 ?
(A) foamge®  (B) TeHEH

(C) HegHT+ (D) =BT
fopm i 7 Gifa frgra’ e HI 7 2
(A) HTATHR TIE

(B) “hreTeal

(C) HTeATAHR LA
(D) =Ty HgrEn

TR o TEATHR i & 7
(A) TS

(B) EWTREETH!

(ORELCEIR

(D) UfSaurst Sane

10 (Hindi)

60.
61.

62.
. 63.

64.
6S.

66.

67,

. 68,

“HIIIMITHT g0 TN JIed’ -
AP 6T Ig g fopem < 7

(A) TUEt (B) 3. waq
(C) S=T (D) WHE
Ffafaa o 9 9 & @ s am $i
T

(A) TidTae (B) UTed! WA

(C) Hieraraett (D) femfient
A AT G R Y 7

(A) Hfd (B) wHiereh

(C) Treifieh (D) TSR
UNEHE & AR HH & ?

(A) = (B) 3R],

(C) wiiaTsH (D) 3T & I3 &

‘e wramaT Y feafa € sArcrenties wmeT
HITH AR - T8 HY TR 8 7

(A) HiA (B) ofiogTd

(C) I (D) 378.U. fargd
‘:{:lﬁ 31‘«?13’(% :

(A) 3,9 B) 9,%

(C) 3,31 D) T, T

‘e U f=<t &7 39 Td &% |Heie B
g7

(A) g HIheATI

(B) 3. gSRIETg fgadt

(C) THfereTa st

(D) . g

S i I HOTHUT B FT R R 7
(A) wfah=d (B) BRI
(C) 3firgaor (D) Y9I
qoell CI3ha ! AT hiA T 7 7

(A) TURETH

(B) ==

(C) g&l
(D) 3freafh Tt




69.

70.

71.

72.

73.

74.

75.

WA AT e FY wer' - forweh ufh
(A) B (B) STt

(C) gt (D) ™

Heeft T T SR i TWATE fohy 9M
T ufrg §7

(A) Gsiq (B) wrEt

(C) W (D) st

TN & AT shiad sTerd |ifg df 3 shfad

s - Ui fra wfa i g 7
(A) ST €8 TSR

(B) seT

(C) THHE

(D) =TT

fafyrs <eEfes v 61 SAEEiE 3R

Tfera g forg a1 <l fosiwan B ¢
(A) HTfEfere 3TeTe

(B) Teh-fTehl 3TTE

(OREICRIGEI

(D) =+t

< i g frEeh! FEM 2 ?

(A) BN TS

(B) SHg HHR

(C) Torvamm Ty +ifyrs

(D) frsq re-t

i 81.

23 1 AT % & / U3 % HHE g el

FH e R TS 7

(A) T g

(B) 3TqTE 31 T

(C) &

(D) e sget T

TTH A HH GHI BT R ?

(A) 3EHH (B) HIfEH I
(C) e (D) 9@ qeme

8.

11

76.

77.

78.

79.

80.

Tt e o1 qu sfaer™’ * sfogmEsn
HHE ?

(A) S=fbE

(B) THFHHAR Iaf

(C) 3. gsivdTe fgad)

(D) 378 | I3 T

TorEiierE i Sifem AT R H R ?

(A) THIRGHFE  (B) &9 S8
(C) Hfcraraett ) REEELIEE
“qToT Fifet | Sl fSeh $et o grE’ ufh
FHAT DAL ?

(A) PR (B) Hefherd

(C) derdie™ (D) ¥ TS

T bl WA e a1t Fehiedi bl Oeft
T R 38 ASTd H 38 AT W AT

TheoT] Y Tora 3T foreram =nt gl @ fAemrer
fean | vttt fpm e T 8 2

(A) ITHAEX 3T T
(B) Torerent sIget T

(C) 3TIT 37T AT
(D) & Zpim fat

Tor® lel <1 TEhd 1 “FUSIA 3T HIGT !
&1 A1 hET ?

(A) qerte@ (B) ©AME
(C) &K (D) 9t
‘IR TEATH &1 371 2T a1 o 39 grfeey

1 TRE AT 81 & Frem S 31 3 fopm
SATCATEeh  HaT ?

(A) BRIvETE fgad

(B) =iy I

(C) Tmferer i

(D) TraemidE =E™

B <hl TAToHT fohE T ?
(A) aw*m%nﬁ (B) Tagamy
(C) M (D) Y™
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83.

84.

8s.

86.

87.

88.

89.

90.

91.

‘TEITEATRN o TWHTRR i @ ?

(A) TEE (B) @ gitg™

(C) Trwe™ (D) egH

T I a1 Wbl T B HICE T AR |
3fh Tory aTCTTE § HaT ?

(A) IR (B) 3Ths

(C) sTs O RUEER

Tt § 7T T vt feaet 3ET He
39 Ufth § fopg W1 SHT AT g B

(A) TSR (B) Wwgdl

(C) 59 (D) 370 & I TE
T HHATH ENEH T hifeA femg s
TEEH < foaw 4 95 3o fopaq el 8 7
(A) SR St

(B) TH=ig, e

(C) WRdg
(D) fergammeryare fis

“idehel Hodde ' oh THBR i & ?

(A) Teamfor (B) YUl

(C) FrEricE (D) toad fig
{iferehTet <l *AeTehe WeahTel’ foher el ?
(A) fasrey (B) T A

(C) firrgm (D) T,

S <1 MM § 3 o1 | T g J |
HH T EHE R ?
(A) for wwm (B) wgsiife T

(C) HHII TH™ (D) gy qHTH
I dTeTed &af 2

(A) & (B) &

C) 3 (D) @

(A) ot f&dt (B) wfvant fadt |
(C) v=rel (D) Tzl

10 (Hindi)

92.

93.

94.

.95,

96.

97.

98.

- 99,

| 100.

HYTE I i 1o 1 Ud foreH a1 8 ?
(A) Tazreyg

(B) Tz YA

(C) "egetR srstult

(D) et fgerdt

(B) SATETETG

(D) Al

sfier UTaeh ford YT % Hia & ?

(A) TER H=EIR (B) BHEMETE

(C) TEHarg (D) TgedrErg
T gt W foenet’ freeh afw 2 2
(A) feet

(B) At feretrar st

(C) ARG agadl

(D) SRS ¥ el

& BN o 9 H HE bl I foham
T &1 19 91 SRR BT 8 7

(A) IrETfd (B) fawmamn

(C) fowrnfed (D) feemyma
FrafaRaa o =9 @1 @son weewie &
A TE B 7

(A) gend Hiaren (B) gEnd &1 A
(C) ®fe ryan YAsH(D) =5 sl FieTeh
et et G 2 HE % TG B @ ?
(A) w9erd (B) TSI I1ed
(C) HHATR (D) T TehsT
31T T[0T BT <4 TT 210 T B 7

(A) = HId Tae

(B) wfera ugraett

(C) <huTeRg ST&gT T TR

(D) STETfeeh JuTt 1 =4




101.

102.

103.

104.

105.

106.

107.

108.

109.

“3TT <h1 ST fepehl AT R ?

(A) BIA . 8 (B) $EHd LTS
(C) T st (D) HHATR
RERICIEUICE R RIS R ARG L I
o 39 Y o Add (SafT 1 Aol
FHAH 7Y ®TE?

(A) sfyfFm  (B) g

(C) 3 (D) “Yferd’

‘a1t Sh1 i Fepeehl T R 7

(A) HeReeht amf  (B) THaR SHgd
(C) P agm (D) foeshl 1
JTTfeehTel 1 SIS SoeRTel T8 fope feam ?
(A) wRTETETE fgadt

(B) Tget Heheer

(C) frorey

(D) . Turafd 9gd

TS o i H Ta &

(A) TeeE (B) e =t
(C) Igser™ (D) Tea gfem
‘Bfd B T IE g, e 3y«-
9o 79 R - fepurehl ufer @ 2

(A) TR I Tl

(B) ARG Tqgad!

(C) gIgTHHT Tre™

(D) e

“froT THs’ T IHRE 99 §

(A) &7 1943 (B) &1 1951

(C) ¥11953 (D) &1 1959
Tt TET i o T ©

(A) HATHET & foreg

(B) T9! g4I, el g4l

(C) Efedt w & @

(D) < Y T3 8

‘IR’ TTeeh o THHThN &

(A) SUZATY 3T

(B) SHTETEreg A1

(C) T Rt

(D) HigH TehsT

| 116.

L.

13

110

111.

112.

113.

114.

115.

e frg AR FITH I R 7

(A) JATIE 1 T fe

(B) <&l o TTgd

(C) 3MI-31eR

(D) T
FARIVETE Tgordl o1 Tget 3u=IT &

(A) SIS T 1T

(B) e

(C) STUTHE hi JTHBAT

(D) =& dgeral
‘TIadTerTSt Tife fohd U=ITE hi e 7§ ?
(A) Gt 99 9 39T (B) T Gar/d

(C) Sera=mT (D) et e
ST Hgetl T o1 ST TET B

(A) Toefam

(B) 3 f&ed 1 ¢

(O RESEIER

(D) # 3 &

Ry o Bt % Freieehr 8

(A) BSOS fgadt (B) Bferent wams
(C) Tornfa@ fasr (D) FerT T
TehIH IY (hIeTshH) b ITHR Tel A
HHAHR ?

(A) TWIEER!/THE /HAT AT /381 o=
(B) 319 /T SR /v /5l e
(C) 31T /HeT 3ifae /T eart /e
(D) el 3Af=ret /g1 & /T Sl /e
‘giud’ & ITATIHT HH & ?

(A) STIIHTST heH

(B) e e

(C) I aTeHifh

(D) Ffet efereit

& sm gr fafea ‘srga i R’
Iieh ehferdT ST Tl Ubept 4 =4 off,

forg v /sieft o foreht 77 oft 2
(A) ==& (B) WreTgd
(C) BAETEt (D) s
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118. ¢

119. ©

120.

121.

122.

123.

124.

125.

Y - Teh Ao’ i ©i Arfefcres faun
27

(A) SheHl (B) 3U=mE

(C) Sfret (D) @t

T e gy fatad farats 2

(A) Sefig

(B) wATe 1 Hi=l

(C) THHI < &=

(D) RIS -G

“Teh HTfafceh hl SR’ o &k hi 3 ?
(A) gfermay (B) TR "8l
(C) Wigwiferar (D) o smi
freferiad & & yaeh anfecr &

(A) FISTESR (B) S aHt

(C) SAYHRIHeH (D) FOU Hleict

STged bl TUTgh ST H BT | 7

(A) I (B) TETG
(C) wrgd (D) =t
H1g 1§ fore w11 2

(A) reared i Ui T8 HEAT
(B) WTel s BUNA Td AT LT
(C) & 1 I I Teded LT
(D) 3o a+ft

10 (Hindi)

126.

| 127

128.

129.

130.

131.

132.

wmagam,%r—or,%vaqé‘z’avﬁw%l“

134,

% 3 gEayfd %1 ey fhw 9 @

T fran @ 7

(A) TGS IUTAE  (B) FHICRANUTETG

(C) wfaaTg (D) IARYSTETg

‘-3 -3 U SLEd @ HIeH

TH-BH SH-BH R ¢ T& T A B |7

T HTH-URAI S a1 fo B

(A) % (B) BT

(C) = (D) &=

e Uohg g8’ fohEshl TR 7

(A) A.UE. 3@ (B) TR 9SS

(C) IR.T. fergd (D) i

®ie faferam i & 998 Ygd feiue

HHY ?

(A) TS daiTedt

(B) S firetshrsee

(C) ®i¢ faferm

(D) 378 A I3 T

TehIfh TUCH o Jeideh i & ?

B

gcg m%a

(D) ufsaurst =

T TG Bl I G1 ST S0

IT9E B ?

(A) A HIAET (B) G T EX

(C) g wdd (D) &+t

(A) I HTEE  (B) WM 434

(C) gehi w1 (D) Hal ol el

“37TEl 6l egeAS 6 WA 3

(A) ger (B) 391 firergy

(C) USRI Was (D) ATy Imi

SHICTshY o STTHR Tl ShT DI AT ?

(A) g fgadl, foaeht T, Amer
]

’

HAETY
(B) R T&g, HaETY T, TIRITHG

, Tt T




135.

136.

137.

138.

139.

140.

141.

142.

143.

frafafga g e o a1 Ao B 7

(A) TEHId & IR AL

(B) 3 gell

(C) 3ATERI HHET

(D) Swig B H

g Ideh U & 3TN 98 el | 97 | I8

3T I8 9 H SHTHONTT ShISAT & 7

(A) 98 398 gHi &l T & |

(B) 98 Haqies fomivor 8 3R =8
Hehdareeh (Freeams) e 8 |

(C) I8 TUETIh ﬁﬁw 2 3R 98
gra-d=eh

(D) ¥% 3R I8 QHI &l %ﬁw%

Hfaam i 3759 T | Juret, Jgh 3R
SHihuft YTSTY fordt & B SIS T8 2

(A) 1972 (B) 1982

(C) 1992 (D) 1994

i G i dfoges wla i 8 2

(A) Testea (B) frarfies

(C) 3™ (D) s

3. U= YA A SR 99 T I8l
i fpa omT 2 2

(A) (B) TG

© T (D) FAASE T
“qarTad’ B HIETHERT i 3R o S aTeft
Ffg 1 vIelieh U 8

(A) TTHdAT (B) =T

(C) ITAEH (D) ToTeH

STRT WTHh hrery” 3fert ot ST hI 8 7
(A) F=RiGdl (B) AR YmE |

(C) = fagey (D) =R vy

| 149,

| 150.

HiAd faun g ¢
(A) 3= (B) frag

(C) A (D) &I

ST Shimgd U= &1 8

(A) shret aredl

(B) Wi HTg

(C) T $US § I

(D) it sfremE 5 21 &

15

144.

145.

146.

147.

148.

Ty SHgd % g AR T ey |

TS fehEehT eieh & 7
(A) e (B) @
(©) gma (D) &1

. U= YA o IR &gt 1 gom
FEH 8 -

(A) T Sheeh <l gt

(B) E &

(C) wgmdt

(D) gegaeft

fore a1 Y@ 3R 3T & HWUT ¢H died
TS s 1 ifiieh femmr g3 R 7

(A) STOET 3191 9T (B) Wit

(C) Tflm (D) U
TG AT & Iathig § fred foraa
A I I 7

(A) TRE = e s &

(B) &S S HTehyEIfs St @

(C) TRe N IR AHT NG

(D) HTRIfUs St 3 Tee St |

AR JETE % fohg AT | IS A
EIRCEL R

(A) 5

(B) gereaioeft

(C) &<TH
(D) SHESE T AT

ISfT IR fiud AT 3Avh b fohg
qEH H IS ?
(A) & 6 Feteh
(ORESICE]

TR g S TR YORR < STgaed ),
Raeht 71 forspm 01 W T g It 27 A

(B) 37— T&d
(D) B3 &

i ferm @ h @ 2
(A) SR (B) 3af
(C) @meha (D) gerfierE
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